

Electrical Load Calculation - Victory Amara

At Plot No.GH-5C, Sector-16, Greater Noida.

S.no	Description	No. of	Load per Unit				Total Load				
	Tower - A (B+S+13) (Club @ 1st)		No. of	Tower	=	1	nos.				
	3B + 2T										
1	(78 sq M @ 50 W/sqM =	3.90 KW)	24	units	@	3.9	KW		=	94	KW
	3B + 3T		2.1		_	4.0	KW			404	101
2	(84 sq M @ 50 W/sqM =	4.21 KW)	24	units	@	4.2			=	101	KW
	3B + 4T + Serv.										
3	(97 sq M @ 50 W/sqM =	4.85 KW)	24	units	@	4.8	KW		=	116	KW
	Tower - B (B+S+19)		No. of	Tower	=	1	nos.				
	2B + 2T										
4	(56 sq M @ 50 W/sqM =	2.79 KW)	38	units	@	2.8	KW		=	106	KW
_	2B + 2T + ST.(A)			units			KW			121	KW
5	(64 sq M @ 50 W/sqM =	3.19 KW)	38		@	3.2			=		
	3B + 2T(A)	<u> </u>		units	@	3.9	KW		II	1.10	100
6	(78 sq M @ 50 W/sqM =	3.92 KW)	38							149	KW
7	3B + 3T		20	units	@	4.2	KW			400	KW
7	(84 sq M @ 50 W/sqM =	4.21 KW)	38						=	160	1744
	Tower - C (B+S+19)		No. of	Tower	=	1	nos.				
8	2B + 2T		76	units	@	2.8	KW		_	212	KW
0	(56 sq M @ 50 W/sqM =	2.79 KW)	70						II	212	ΚVV
9	2B + 2T + ST.		38	units	@	3.2	KW		=	122	KW
ס	(64 sq M @ 50 W/sqM =	3.22 KW)	30						=		
10	2B + 2T + ST.(A)		- 38	units	@	3.2	KW			121	KW
10	(64 sq M @ 50 W/sqM =	3.19 KW)	30		w				=		
	Tower - D (B+S+19)		No. of	Tower	=	1	nos.				
11	2B + 2T		38	unito	@	2.0	KW			106	KW
11	(56 sq M @ 50 W/sqM =	2.79 KW)	30	units	@	2.8	KW		=	106	
10	2B + 2T + ST.(A)		76	units	@	3.2	KW		=	242	KW
12	(64 sq M @ 50 W/sqM =	3.19 KW)	76								
13	3B + 2T(A)		- 38	units	@	3.9	KW		=	149	KW
	(78 sq M @ 50 W/sqM =	3.92 KW)									
	Tower - E (B+S+19)	Tower - E (B+S+19)		Tower	=	1	nos.				
11	2B + 2T		38	units	@	2.8	KW		_	106	KW
14	(56 sq M @ 50 W/sqM =	2.79 KW)	38						=	106	

Electrical Load Calculation - Victory Amara

At Plot No.GH-5C, Sector-16, Greater Noida.

S.no	Description		No. of unit		Load per Unit				Total Load			
15	2B + 2T + ST.(A)		76	units	@	3.2	KW		_	242	KW	
13	(64 sq M @ 50 W/sqM =	3.19 KW)	70				IXVV		=	242	KVV	
16	2B + 2T + ST.		19	units	@	3.2	KW		=	61	KW	
	(64 sq M @ 50 W/sqM =	3.19 KW)	10	units	w	3.2	I KVV		Ш	61	KVV	
17	2B + 2T + ST.		19	units	@	3.2	KW		=	61	KW	
	(64 sq M @ 50 W/sqM =	3.22 KW)			0)	5.2			_			
	Tower - F (B+S+14)		No. of Tower		=	1	nos.					
18	2B + 2T		14	unite	@	2.0	KW		=	39	KW	
10	(56 sq M @ 50 W/sqM =	2.79 KW)	14	units	9	2.8	KW				I VV	
19	2B + 2T(A)		14	units	@	2.8	KW		=	39	KW	
19	(55 sq M @ 50 W/sqM =	2.77 KW)	14								1000	
20	2B + 2T + ST.(A)		- 28	units	@	3.2	KW		-	89	KW	
20	(64 sq M @ 50 W/sqM =	3.19 KW)								03		
21	3B + 2T(A)		- 28	units	@	3.9	KW		_	110	KW	
۷1	(78 sq M @ 50 W/sqM =	3.92 KW)					IXVV			110	IXVV	
	Tower - G (B+S+14)		No. of	Tower	=	1	nos.					
22	2B + 2T		14	units	@	2.8	KW		=	39	KW	
	(56 sq M @ 50 W/sqM =	2.79 KW)	17				IXVV			33		
23	2B + 2T(A)		14	units	@	2.8	KW		=	39	KW	
	(55 sq M @ 50 W/sqM = 2.77 KW)				0							
24	3B + 2T(A)		28	units	@	3.9	KW		=	110	KW	
	(78 sq M @ 50 W/sqM =	3.92 KW)		unito	٠	ა.ყ	IXVV			110	1	
25	3B + 3T		28	units	@	4.2	KW		=	118	KW	
	(84 sq M @ 50 W/sqM =	34 sq M @ 50 W/sqM = 4.21 KW)		driito		7.2	1744					
	COMMON SERVICES - TOWERS											
	Tower - A (B+S+13) (Club @ 1st)		No. of	Tower	II	1	nos.					
26	Elevators (13 Passenger) 1.0 mps		2	nos	@	7	KW		Ш	14	KW	
27	Elevators (10 Passenger) 1.0 mps		1	nos	@	6	KW		=	6	KW	
28	Common Lights		1	towers	@	3	KW		=	3	KW	
	Tower - B (B+S+19)		No. of	Tower	=	1	nos.					
29	Elevators (13 Passenger) 1.5 mps		2	nos	@	12	KW		=	24	KW	
30	Elevators (10 Passenger) 1.5 mps		1	nos	@	9	KW		=	9	KW	

Electrical Load Calculation - Victory Amara

At Plot No.GH-5C, Sector-16, Greater Noida.

S.no	Description	No. of	No. of unit			Load per Unit				ad	
31	Common Lights		1	towers	@	3	KW		=	3	KW
	Tower - C (B+S+19)		No. of	Tower	=	1	nos.				
32	Elevators (13 Passenger) 1.5	mps	2	nos	@	12	KW		=	24	KW
33	Elevators (10 Passenger) 1.5	5 mps	1	nos	@	9	KW		=	9	KW
34	Common Lights		1	towers	@	3	KW		=	3	KW
	Tower - D (B+S+19)		No. of	Tower	=	1	nos.				
35	Elevators (13 Passenger) 1.5	mps	2	nos	@	12	KW		=	24	KW
36	Elevators (10 Passenger) 1.5	mps	1	nos	@	9	KW		=	9	KW
37	Common Lights		1	towers	@	3	KW		=	3	KW
	Tower - E (B+S+19)		No. of	Tower	=	1	nos.				
38	Elevators (13 Passenger) 1.5	mps	2	nos	@	12	KW		=	24	KW
39	Elevators (10 Passenger) 1.5	mps	1	nos	@	9	KW		=	9	KW
40	Common Lights		1	towers	@	3	KW		=	3	KW
	Tower - F (B+S+14)		No. of	Tower	=	1	nos.				
41	Elevators (13 Passenger) 1.0) mps	2	nos	@	7	KW		=	14	KW
42	Elevators (10 Passenger) 1.0) mps	1	nos	@	6	KW		=	6	KW
43	Common Lights		1	towers	@	3	KW		=	3	KW
	Tower - G (B+S+14)		No. of	Tower	=	1	nos.				
44	Elevators (13 Passenger) 1.0) mps	2	nos	@	7	KW		=	14	KW
45	Elevators (10 Passenger) 1.0) mps	1	nos	@	6	KW		=	6	KW
46	Common Lights		1	towers	@	3	KW		II	3	KW
	COMMON SERVICES										
47	Commercial (At tower - A)								=	85	KW
48	Club / Community / Swining I	Pool (At To	wer A)						Ш	100	KW
49	Water supply pumps & Tube	wells							=	70	KW
50	Sewage Treatment Plant								=	70	KW
51	External / Gate / Landscape	lighting	1	Job	@	10	KW		II	10	KW
52	Basement Lighting	1662	26	Sq M	@	0.7	W/sq.m		=	12	KW

Electrical Load Calculation - Victory Amara												
At Plot No.GH-5C, Sector-16,Greater Noida.												
S.no	Description No. of unit Load					Load	per Unit		Т	oad		
53	Podium Lighting	9265 Sq M		@	0.7 W/sq.m			=	6	KW		
54	Basement Ventilation								II	90	KW	
55	Fire Pumps (only jockey pumps have been considered) 2 set @ 15						KW		II.	30	KW	
Total Load = 3539 KW												
By taking Overall Diversity factor 60 % => 2124 KW												
	By taking Power factor 0.90 => 2360 KVA											
	Tota	I Electric	cal Load	d = 23	360	KVA						
Recommended Transformers (@85 % loading) = 2 Nos. 1600 KVA each.												
Calcu	lation for DG sets											
By taking Power factor 0.80 => 2650 KVA												
Total Electrical Load = 2650 KVA												
Recommended DG sets (@ 85% loading) = 2 Nos. 1010 KVA & 2 nos 600 KVA.												